5/5/2017



City of Santa Rosa **Project Bid Summary**

Spring Lake Lift Station

Project Name: Improvements

Client: CITY OF SANTA ROSA

Bid Opening: 05/04/2017 2:00 PM

Contract No.: C01570

Project No.: C01570

Owner: City of Santa Rosa

Rank	Vendor Number	Business Name	Total Bid Amount	Percent Over Low Bid	Percent Over/Under Estimate
	-	Engineers Estimate	\$418,240.00		
1	TBD	GREGORY EQUIPMENT, INC	\$654,288.00	0.00%	56.44% OVER ESTIMATE
2	TBD	FORT BRAGG ELECTRIC, INC	\$694,208.73	6.10%	65.98% OVER ESTIMATE
3	V006579	PIAZZA CONSTRUCTION	\$718,831.22	9.86%	71.87% OVER ESTIMATE
4	V006204	TEAM GHILOTTI INC	\$749,645.00	14.57%	79.24% OVER ESTIMATE

5/5/2017



City of Santa Rosa Project Bid Abstract

Project Name: Spring Lake Lift Station Improvements
Client: CITY OF SANTA ROSA
Bid Opening: 05/04/2017 2:00 PM

Contract No.: C01570

Project No.: C01570

City of Santa Rosa

	Project:	Project: C01570 - Spring Lake Lift Station Improvements			Engineers E		GREGORY EQUIPMENT, INC		FORT BRAGG ELECTRIC, INC		PIAZZA CONSTRUCTION	
Line No.			Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	120100	TRAFFIC CONTROL	LS	1	\$7,500.00	\$7,500.00	\$19,375.00	\$19,375.00	\$18,084.00	\$18,084.00	\$8,085.00	\$8,085.00
2	074020	WATER POLLUTION CONTROL	LS	1	\$5,000.00	\$5,000.00	\$600.00	\$600.00	\$5,169.00	\$5,169.00	\$1,850.00	\$1,850.00
3	202006	GROUNDWATER MANAGEMENT	FA	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4	074016	SELECTIVE SITE DEMOLITION	LS	1	\$25,000.00	\$25,000.00	\$13,250.00	\$13,250.00	\$41,320.00	\$41,320.00	\$25,360.00	\$25,360.00
5	19010	EXCAVATION (F)	CY	232	\$65.00	\$15,080.00	\$80.00	\$18,560.00	\$97.66	\$22,657.12	\$97.00	\$22,504.00
6	190101	OVER EXCAVATION	CY	40	\$250.00	\$10,000.00	\$400.00	\$16,000.00	\$94.58	\$3,783.20	\$112.75	\$4,510.00
7	510060	STRUCTURAL FILL (F)	CY	200	\$175.00	\$35,000.00	\$155.00	\$31,000.00	\$141.24	\$28,248.00	\$115.25	\$23,050.00
8	150771	ROCK LINED SWALE	LF	25	\$50.00	\$1,250.00	\$160.00	\$4,000.00	\$62.64	\$1,566.00	\$155.00	\$3,875.00
9	203015	EROSION CONTROL	LS	1	\$10,000.00	\$10,000.00	\$3,300.00	\$3,300.00	\$12,785.00	\$12,785.00	\$3,500.00	\$3,500.00
10	373900	ASPHALT CONCRETE SURFACE	TON	70	\$350.00	\$24,500.00	\$286.00	\$20,020.00	\$288.61	\$20,202.70	\$367.00	\$25,690.00
11	513601	REINFORCED CONCRETE SLAB	SF	598	\$35.00	\$20,930.00	\$62.00	\$37,076.00	\$49.91	\$29,846.18	\$75.00	\$44,850.00
12	150846	CONCRETE VALLEY GUTTER	SF	225	\$35.00	\$7,875.00	\$30.00	\$6,750.00	\$27.84	\$6,264.00	\$55.00	\$12,375.00
13	129510	CONCRETE MOW CURB	LF	38	\$30.00	\$1,140.00	\$100.00	\$3,800.00	\$34.39	\$1,306.82	\$40.00	\$1,520.00
14	500020	PRECAST PUMPER CONNECTION UTILITY VAULT	LS	1	\$7,500.00	\$7,500.00	\$16,000.00	\$16,000.00	\$11,558.00	\$11,558.00	\$20,820.00	\$20,820.00
15	760011	WET WELL SUCTION CONNECTION	LS	1	\$6,000.00	\$6,000.00	\$6,700.00	\$6,700.00	\$9,425.00	\$9,425.00	\$8,325.00	\$8,325.00
16	760011	DRY WELL ENTRY HOIST	LS	1	\$7,500.00	\$7,500.00	\$6,970.00	\$6,970.00	\$4,165.00	\$4,165.00	\$9,675.00	\$9,675.00
17	731516	DRIVEWAY AND SIDEWALK	SF	265	\$35.00	\$9,275.00	\$36.60	\$9,699.00	\$22.11	\$5,859.15	\$53.50	\$14,177.50
18	800701	6' HIGH SECURITY FENCE	LF	20	\$100.00	\$2,000.00	\$142.00	\$2,840.00	\$163.35	\$3,267.00	\$293.25	\$5,865.00
19	800701	8' HIGH SECURITY FENCE	LF	82	\$120.00	\$9,840.00	\$187.00	\$15,334.00	\$158.51	\$12,997.82	\$103.50	\$8,487.00
20	800701	WOOD FENCE	LF	62	\$75.00	\$4,650.00	\$232.00	\$14,384.00	\$335.02	\$20,771.24	\$235.81	\$14,620.22
21	804201	6' HIGH ROLLING GATE	EA	1	\$2,000.00	\$2,000.00	\$5,880.00	\$5,880.00	\$6,757.00	\$6,757.00	\$5,010.00	\$5,010.00
22	804201	8' HIGH ROLLING GATE	EA	2	\$2,500.00	\$5,000.00	\$5,400.00	\$10,800.00	\$6,199.00	\$12,398.00	\$3,852.50	\$7,705.00
23	804201	6' HIGH WALK GATE	EA	1	\$1,200.00	\$1,200.00	\$3,500.00	\$3,500.00	\$3,901.00	\$3,901.00	\$3,680.00	\$3,680.0
24	074025	STABILIZATION FABRIC	SY	500	\$5.00	\$2,500.00	\$2.00	\$1,000.00	\$7.37	\$3,685.00	\$11.00	\$5,500.0
25	393001	GEOGRID	SY	100	\$15.00	\$1,500.00	\$6.00	\$600.00	\$61.41	\$6,141.00	\$34.50	\$3,450.0
26	155530	1" WATER SERVICE AND HOSE BIB	LS	1	\$4,000.00	\$4,000.00	\$1,400.00	\$1,400.00	\$10,018.00	\$10,018.00	\$4,850.00	\$4,850.0
27	9990. 01831	TREE PROTECTION AND REMOVAL	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$6,785.00	\$6,785.00	\$5,475.00	\$5,475.0

28	152394	GENERAL ELECTRICAL WORK AND LIGHTING	LS	1	\$70,000.00	\$70,000.00	\$28,000.00	\$28,000.00	\$48,457.00	\$48,457.00	\$78,700.00	\$78,700.00
29	152394	ELECTRICAL AND CONTROLS PEDESTAL	LS	1	\$50,000.00	\$50,000.00	\$276,150.00	\$276,150.00	\$255,924.00	\$255,924.00	\$285,605.00	\$285,605.00
30	719209	METER PEDESTAL	LS	1	\$5,000.00	\$5,000.00	\$7,800.00	\$7,800.00	\$5,299.00	\$5,299.00	\$4,500.00	\$4,500.00
31	870010	25KW DUAL FUEL GENERATOR SET	LS	1	\$32,000.00	\$32,000.00	\$45,000.00	\$45,000.00	\$36,473.00	\$36,473.00	\$28,820.00	\$28,820.00
32	208001	GAS PIPING	LF	150	\$50.00	\$7,500.00	\$10.00	\$1,500.00	\$99.49	\$14,923.50	\$33.35	\$5,002.50
33	890010	FURNISH AND INSTALL 499 GALLON LIQUID PROPANE FUEL TANK	LS	1	\$12,500.00	\$12,500.00	\$6,000.00	\$6,000.00	\$5,723.00	\$5,723.00	\$6,680.00	\$6,680.00
34	860782	NATURAL GAS SERVICE	LS	1	\$5,000.00	\$5,000.00	\$11,000.00	\$11,000.00	\$13,449.00	\$13,449.00	\$9,715.00	\$9,715.00
	Totals f	or Project C01570				\$418,240.00		\$654,288.00		\$694,208.73		\$718,831.22
	% of Estimate for Project C01570							56.44%		65.98%		71.87%

	Project:	C01570 - Spring Lake Lift Station Improvements			Engineers Estimate		TEAM GHILOTTI INC	
Line No.	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price
1	120100	TRAFFIC CONTROL	LS	1	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00
2	074020	WATER POLLUTION CONTROL	LS	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00
3	202006	GROUNDWATER MANAGEMENT	FA	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4	074016	SELECTIVE SITE DEMOLITION	LS	1	\$25,000.00	\$25,000.00	\$33,000.00	\$33,000.00
5	19010	EXCAVATION (F)	CY	232	\$65.00	\$15,080.00	\$247.00	\$57,304.00
6	190101	OVER EXCAVATION	CY	40	\$250.00	\$10,000.00	\$375.00	\$15,000.00
7	510060	STRUCTURAL FILL (F)	CY	200	\$175.00	\$35,000.00	\$214.00	\$42,800.00
8	150771	ROCK LINED SWALE	LF	25	\$50.00	\$1,250.00	\$118.00	\$2,950.00
9	203015	EROSION CONTROL	LS	1	\$10,000.00	\$10,000.00	\$4,200.00	\$4,200.00
10	373900	ASPHALT CONCRETE SURFACE	TON	70	\$350.00	\$24,500.00	\$280.00	\$19,600.00
11	513601	REINFORCED CONCRETE SLAB	SF	598	\$35.00	\$20,930.00	\$53.00	\$31,694.00
12	150846	CONCRETE VALLEY GUTTER	SF	225	\$35.00	\$7,875.00	\$35.00	\$7,875.00
13	129510	CONCRETE MOW CURB	LF	38	\$30.00	\$1,140.00	\$44.00	\$1,672.00
14	500020	PRECAST PUMPER CONNECTION UTILITY VAULT	LS	1	\$7,500.00	\$7,500.00	\$6,800.00	\$6,800.00
15	760011	WET WELL SUCTION CONNECTION	LS	1	\$6,000.00	\$6,000.00	\$9,500.00	\$9,500.00
16	760011	DRY WELL ENTRY HOIST	LS	1	\$7,500.00	\$7,500.00	\$9,000.00	\$9,000.00
17	731516	DRIVEWAY AND SIDEWALK	SF	265	\$35.00	\$9,275.00	\$40.00	\$10,600.00
18	800701	6' HIGH SECURITY FENCE	LF	20	\$100.00	\$2,000.00	\$270.00	\$5,400.00
19	800701	8' HIGH SECURITY FENCE	LF	82	\$120.00	\$9,840.00	\$95.00	\$7,790.00
20	800701	WOOD FENCE	LF	62	\$75.00	\$4,650.00	\$217.00	\$13,454.00
21	804201	6' HIGH ROLLING GATE	EA	1	\$2,000.00	\$2,000.00	\$4,600.00	\$4,600.00
22	804201	8' HIGH ROLLING GATE	EA	2	\$2,500.00	\$5,000.00	\$3,600.00	\$7,200.00
23	804201	6' HIGH WALK GATE	EA	1	\$1,200.00	\$1,200.00	\$3,400.00	\$3,400.00
24	074025	STABILIZATION FABRIC	SY	500	\$5.00	\$2,500.00	\$2.70	\$1,350.00
25	393001	GEOGRID	SY	100	\$15.00	\$1,500.00	\$12.00	\$1,200.00
26	155530	1" WATER SERVICE AND HOSE BIB	LS	1	\$4,000.00	\$4,000.00	\$6,600.00	\$6,600.00
27	9990. 01831	TREE PROTECTION AND REMOVAL	LS	1	\$5,000.00	\$5,000.00	\$7,100.00	\$7,100.00
28	152394	GENERAL ELECTRICAL WORK AND LIGHTING	LS	1	\$70,000.00	\$70,000.00	\$90,000.00	\$90,000.00
29	152394	ELECTRICAL AND CONTROLS PEDESTAL	LS	1	\$50,000.00	\$50,000.00	\$260,000.00	\$260,000.00
30	719209	METER PEDESTAL	LS	1	\$5,000.00	\$5,000.00	\$4,000.00	

31	870010 25KW DUAL FUEL GENERATOR SET	LS	1	\$32,000.00	\$32,000.00	\$25,056.00	\$25,056.00
32	208001 GAS PIPING	LF	150	\$50.00	\$7,500.00	\$32.00	\$4,800.00
33	890010 FURNISH AND INSTALL 499 GALLON LIQUID PROPANE FUEL TANK	LS	1	\$12,500.00	\$12,500.00	\$3,200.00	\$3,200.00
34	860782 NATURAL GAS SERVICE	LS	1	\$5,000.00	\$5,000.00	\$32,000.00	\$32,000.00
	Totals for Project C01570				\$418,240.00		\$749,645.00
	% of Estimate for Project C01570					1	79.24%

I hereby certify that this is an exact reproduction of bids received.

Certified By:	License No.
Date:	78 1970 1970 1970 1970 1970 1970